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Part'A’

Attempt any 10 questions:

What is apex distance?

Define bearing of a line.

Define theory of least squares.

What is omitted measurement? ., ...
What is length of a vertical curve‘é »
Define clinometers.

Define tachometry.

What is grade contour?

Define map.

What is degree of curve?

Define tangential offset?

What is the effect of friction on super elevation?

(xiii) What is transition curve?

(xiv) Define auto level.

(i)
(ii)
(iii)

Attempt any 5 questions:

10x2= 20

514:20

What are the factors that affect the selection of triangulation stations?

Explain briefly how horizontal and vertical angles canbe Measured ysin
Name various miror instruments used in surveying and explain bri

them.
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(iv) Compare the direct and indirect methods of contouring.

(v) Explain the principles of Tachometric Survey.

(vi) What aré the varioUis type of clinometers used in surveying?

(vii) Describe in-brief the working principle of transit Vernier theodolite.
(viii) Draw the sketch of the following:

(a) Valley line (b) Saddle (c) Hill (d) Hanging cliff
PART-B
Attempt any 3 questions: 3X20=60
(a) What is Triangulation? What are the factors that affect the selection of triangulation
stations?

(b) What is a satellite station? How would you reduce the horizontal angles?
Following are the lengths and bearings of the sides of a closed traverse ABCD :-

Line AE m B T cD DA
Lengthin'm’ 78.2 198 37.8 ?
Bearings 140°12' 36°24' 338°48' ?

Calculate the length and bearings of line DA.

A simple circular curve having radius 573m and angle of intersection is 120°. The tangents
intersect at chainage of 1060m. Find tangent distance, length of long chord, degree of the
curve and chainage at beginning and end of curve.

How does the measurement of distance with an EDM (electronic distance measurement)
instrument differ from the conventional taping? What are the advantages of EDM
instruments?

\Write short notes on the following:
(a) Strength offigure

(b) Intersection

(¢) Pointofcompo und curvature
(d) Cantdeficiency
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Don’t forget to share this post with your classmates []



